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Ziehung vom 06.12.2013

G 8 7 4 Y

Ziehung vom 06.12.2013

* erwartet pro Gewinner

CHF 250'000.00
8.   G 8 _ _ _ /  _ _ _ 4 Y 1'470 11.50
9.   G _ _ _ _ /  _ _ _ _ Y 15'410 4.20

Hauptgewinn:*
6.   G 8 7 _ _ /  _ _ 7 4 Y 175 48.35
7.   G _ _ _ Y 276 21.20

4.   G 8 7 4 _ /  _ 8 7 4 Y 19 958.70

5.   G 8 _ _ Y / G _ _ 4 Y 54 289.15

2.   G 8 _ 4 Y 7 2'230.45
3.   G 8 7 _ Y / G _ 7 4 Y 5 2'602.20

Gewinnränge Anzahl Gewinner CHF
1.   G 8 7 4 Y 0 0.00

CHF 38'000'000.00
1 + 139'978 25.60

2 +

1'289'370 7.702
590'296 16.45

3 +
25'447 49.85

Jackpot:

2 + 

37'181 32.60
3 80'648 25.30

4 1'603 240.75
3 + 1'700 162.15

4 + 37 11'921.10
4 + 657 587.45

5 + 2 907'358.75
5 5 120'981.15

5 + 0 0.00

Gewinnzahlen & Quoten

Gewinnränge Anzahl Gewinner CHF

Gewinnzahlen und Quoten
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